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Answer: B 

Question: 128
 
Which function allows you to write to an Enterprise database?
 

A.  HPHEA 
B.   HPLNK 
C. HPWRI 
D. HPVAL 

Answer: B 

Question: 129
 
Which Point-of-View menu permanently alters a Point-of-View within a book?
 

A.   Edit, Point-of-View 
B.   Edit, Insert Section 
C. Edit, Insert Change 
D. Edit, Formula-Dimension Expressions 

Answer: C 

Question: 130
 
Which two statements about Compound Reports are true? (Choose two.)
 

A.   Compound Reports can be used in Hyperion Schedules. 
B.   The Compound Report template can be modified by using View ?Layout. 
C. With the correct Compound Report template, up to six reports can appear on the 
same page. 
D. All embedded reports must have columns and rows defined before the report can
be generated. 

Answer: B, D 

Question: 131
 
Which two functions can produce a report that includes only Elimination entities?
 
(Choose two.)
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A.  @ELM 
B.  @ALL(ELIM) 
C. A Fixed Name List 
D. A Dynamic Name List 

Answer: C, D 

Question: 132 
A cell containing an HPVAL formula in a Hyperion Retrieve worksheet returns a 
"#VALUE". What could cause this condition? (Choose two.) 

A. It has an invalid dimension label. 
B.   The RHXLL32.DLL file is missing.
 C .   It has an incorrect order of arguments. 
D. The system cannot find a valid HPAPP.DAT file. 

Answer: A, C 

Question: 133 
To combine data from two or more Enterprise applications on a single report, what 
Retrieve or Reporting features are used to retrieve data? 

A.   Retrieve, HPLNK function 
B.   Retrieve, HPVAL function 
C. Reporting, Compound Reports 
D. Reporting, Standard Report w/ @APP function 

Answer: B 

Question: 134 
Which two Financial functions use the Account attribute defined in the Enterprise
application? (Choose two.) 

A.  BET 
B.  CHG 
C. PBE 
D. PCT 
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Answer: A, C 

Question: 135 
When designing a Variance report comparing Actual to Budget to Lastyr, which 
dynamic Period fuction produces the correct result for all three categories? 

A.  @CMO 
B.  @CUR 
C. @DAT 
D. @PER 

Answer: A 

Question: 136 
Click the Exhibit button. A user checks the CHART method in an Enterprise
application and receives the error displayed in the Error Log in the exhibit. What
caused the error? 
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A.   Someone else has CHART open. 
B. There are no formulas in CHART. 
C. There are invalid formulas in CHART. 
D. The user does not have security access to CHART. 

Answer: A 

Question: 137
 
Where can ACE methods be maintained? (Choose two)
 

A.  Within a text file 
B.   Within the ACE Admin utility 
C. Within the CHARTDSM method 
D. Within the Task menu option in the Formulas module 

Answer: A, B 
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Question: 138 
Which default Enterprise method is appropriate to contain the override of the 
application defaults for currency conversions? 

A.  TRANS 
B. CONSOL 
C. CHARTDSM 
D. DYNVIEWACCTS 

Answer: A 

Question: 139
 
Which function provides the periodic value?
 

A.  PER 
B.  PRD 
C. PRE 
D. PVA 

Answer: B 

Question: 140 
How should the flags be set for the historical common stock account to correctly 
reflect the value of common stock at the translated level? (Choose two.) 

A.   Currency Flag on 
B.   Currency Flag off 
C. Consolidate Flag on 
D. Consolidate Flag off 

Answer: B, C 

Question: 141
 
A client makes a change to the default CHART method, saves, and successfully
 
checks it. Which two statements about the consolidation status flags are true?
 
(Choose two.)
 

A.  OK entities will change to LOGIC 
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B.   OK base entities will change to CALC 
C. LOCKED entities will change to CALC 
D. OK parent entities will change to IMPACTED 

Answer: B, D 

Question: 142 
Click the Exhibit button. Given the Method File, the Data Entry screen, and the
account attributes in the exhibits, what is the value after executing logic in the
account NETINCOME? 
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A.  1,800 
B.  2,000 
C. 2,500 
D. 3,200 

Answer: B 

Question: 143
 
Click the Exhibit button.
 

In DYNVIEWACCTS formula
 
#GROSSMARGINPERCENT=(#GROSSMARGIN/#SALES)*100, what will
 
GROSSMARGINPERCENT equal in February on a periodic and YTD basis?
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A.  35 and 44
 
B.  75 and 80
 
C. 80 and 48
 
D. 80 and 78
 

Answer: D 

Question: 144
 
Click the Exhibit button. Given the REPORT.SCH file in the exhibit, which point-
of-view can be used within Hyperion Schedules? (Choose two.)
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A.   Account=SALARY 
B.   Entity=GTS, Account=GROSSSALES 
C. Entity=LFI, Account=CONSULTINGFEES 
D. Entity=GTS, Account=GROSSSALES, Category=ACTUAL 

Answer: A, C 

Question: 145 
In Enterprise, if users cannot extract journals, which journal items can be sent to 
headquarters via site management? 

A. Journal data residing in the database 
B.   Journal debits, credits, and description 
C. All journal detail except for creation and post dates 
D. No journal information or data residing in the database 
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Answer: A 

Question: 146
 
After running an allocation, what happens to the data from the allocation source?
 

A.   It is posted. 
B.   It is removed. 
C. It is not removed. 
D. It is reduced by the allocation. 

Answer: C 

Question: 147
 
Which file contains the information about the server and its settings?
 

A.   HSvrCtrl.dat 
B.  XASvrCtl.dat 
C. HYPENT.SVR 
D. Application.SVR 

Answer: A 

Question: 148
 
Excluding sending keystrokes, which tasks can be performed via AutoPilot?
 
(Choose three.)
 

A.   Printing a book 
B. Posting journals 
C. Consolidating data 
D. Writing  to a specific file 
E. Running intercompany matching report 

Answer: A, C, D 
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